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[BERAR) REREREEZFAROALRALESSANAABR L HAAEELEU
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U, = B, B A2 Card(U,), % % 242 K Card(U,). AP 15 + 10 +8 = Card(4) +
Card(B) + Card(U,) = Card(U,) + Card(U,) +2Card(U,) + Card(U,) = 30 + Card(U,).
FA& Card(U,;) = 3,Card(U,) = Card(A) - Card(U,) = 12. (R TE R
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e =b
A.l B. -1 C.0 D.i
a =1
[EBERE]) ﬁ%%‘f’i%ﬁﬁi;f-'&,q,b,c,d EZRME. A d (b =1, %I
¢ =b



\ = = s=a5Ea3E 8

I
—

a .
b=-1,FR&S =1{1,-1,i,d} &S, = {1, -1, —i,d}. A FTRAEHREMZ L&,y C
[4
S, bH xy € S” BT HALESS, AL b+c+d EEXERERH BT
B OBHEXNSHd=(-1) i=-i38Hd=(-1)(-1) =i,fillb+c+d =- 1.
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